
tg14 x + 3ctg 14x + sin6x - 2v2*sin(3x+P/4) = 4/ (V3+1)

(a+b)/2 >=V(ab)

tg14 x + 3ctg 14x >= 2V3
sin6x - 2v2*sin(3x+P/4)=sin6x - 2V2(sin3x*cosP/4+sinP/4*cos3x)=2sin3xcos3x-2V2(V2/2sin3x+V2/2cos3x)= 
2sin3xcos3x-2(sin3x+cos3x)

sin(6x) - 2v2*sin(3x+P/4)=-cos(6x+P/2)- 2v2*sin(3x+P/4)=-2+2sin^2(3x+P/4)- 2v2*sin(3x+P/4)+1=(V2sin (3x+P/4)-1)^2 - 2
cos(6x+P/2)=-sin6x
4/ (V3+1)=(4V3-4)/2=2V3-2

tg14 x + 3ctg 14x+(V2sin (3x+P/4)-1)^2 - 2=2V3-2
tg14 x + 3ctg 14x+(V2sin (3x+P/4)-1)^2=2V3
tg14 x + 3ctg 14x = 2V3
tg 14x=t
t+3/t=2V3
t^2-2V3t+3=0
D/4=3-3=0
t=V3
tg 14x=V3
14x=P/3+Pk
x=P/42+Pk/14
(V2sin (3x+P/4)-1)=0

(V2sin (3x+P/4)-1)=0
V2sin (3x+P/4)=1
sin (3x+P/4)=V2/2

3x+P/4=P/4+2Ph
3x=2Ph
x=2/3Ph

3x+P/4=P-P/4+2Pm
x=P/6+2/3Pm

2/3Ph=P/42+Pk/14
2/3h=1/42+k/14
28h-3k=1
h0=1 h=1+3t
k0=9 k=9+28t
2/3P(1+3t)=2/3P+2Pt

P/6+2/3Pm=P/42+Pk/14
28m-3k=1-7=-6
28m-3k=-6
k0=30 k=30+28t
m0=3  m=3+3t
P/6+2/3P(3+3t)=P/6+2P+2Pt=P/6+2Pt

ОТВЕТ: x=P/6+2/3Pm;P/6+2Pt


